
SAM4S ER-180 SERIES  5-1 

Option
31

32

33

34

r

r

5 Exploded View and Parts List 

[Exploded View] 

Figure 5-1. Total Disassembly

A.ASS’Y 
MAIN 

B.DRAWER 

D.ASS’Y 
 PRINTER

C. KEYBOARD 



5. Exploded View and Parts List 

5-2                                                           SAM4S ER-180 SERIES

A. ASS’Y MAIN   

No Parts-No. Description/Specification Q'ty Design-Location Serviceable Remark

1 JK72-20379A PMO-COVER PRINTER 1 Y

2 JK70-20152A IPR-CUTTER PAPER 1 Y

3 JK70-50011A SCREW-TAPPING:PH,M2,L4 2 Y

4 JK72-20385A PMO-WINDOW REAR 1 Y

5 JK72-20384A PMO-WINDOW FRONT 1 Y

6 JK72-20378A PMO-COVER DISPLAY 1 Y

7 JK72-20015A PMO-SPOOL WINDING 1 Y

8 JK72-20377A PMO-COVER BATTERY 1 Y

9 JK72-40330A PMO-ROLLER PAPER/END 2 Y

10 6002-000174 SCREW-TAPPING:PWH,M3,L10 2 C/UPPER + MODE KEY ASS’Y Y

JK70-50056A SCREW-TAPPING:PWH,M4,L10 1 C/UPPER+B DRAWER Y
11 

6003-001149 SCREW-TAPTITE:PWH,M4,L10 1 C/UPPER+G DRAWER(OPTION) Y

12 JK72-20376A PMO-CASE UPPER 1 Y

13 JK96-01001B ELA UNIT-MODE S/W 1 Y

14 JK96-00937C ELA-MOTOR 1 Y

15 JK72-40932B PMO-HOLDER MOTOR 1 Y

16 JK70-50026A SCREW-TAPPING;PWH,M2.6,L8 2 C/DISPLAY + R/DISPLAY PCB Y

JK92-01647A PBA-DISPLAY:DUAL 1 Y OPTION
17

JK92-01648A PBA-DISPLAY:FRONT 1 Y

18 JK39-40800A HARNESS-POWER 1 Y

19 6002-000174 SCREW-TAPPING:PWH,M3,L10 3 C/UPPER + KEYBOARD ASS’Y Y

20 6002-000174 SCREW-TAPPING:PWH,M3,L10 2 C/UPPER + PRINTER ASS’Y Y

21 6002-000174 SCREW-TAPPING:PWH,M3,L10 2 C/UPPER + MAIN PCB Y

22 JK70-30023A SPRING BATTERY 2 2 C/UPPER Y

23 JK97-20115A ASSY-SPRING BATTERY 1 Y

JK44-30507A ADAPTOR:EUROPE 1 Y

JK44-30507B ADAPTOR:USA 1 Y

JK44-30507C ADAPTOR:AUSTRALIA 1 Y
24

JK44-30507D ADAPTOR:UK 1 Y

25 JK39-40803A HAR-DISPLAY FFC:ER180,16P,130mm 1 Y

26 JK72-20382A PMO-HOLDER PRINTER(W) 1 Y

27 JK92-01645A PBA MAIN-BOARD 1 Y

28 6002-000175 SCREW-TAPPING:PWH,M3,L8 7 KEYBOARD + KBD HOUSING Y

29 JK72-20389A PMO-KBD HOUSING 1 Y

30 JK72-20016A PMO-GUIDE WINDING 1 Y

31 6002-000174 SCREW-TAPPING:PWH,M3,L10 2 C/UPPER + CIGAR PCB Y OPTION

32 JK39-40805A HARNESS-CIGAR JACK 1 Y OPTION

33 JK92-01649A PBA-CIGARJACK:ER-180,OPTION 1 Y OPTION

34 JK72-20376C PMO-CASE UPPER 1 Y OPTION


